Calculus I, Drs. Nogin and Wyels, F’06

Names




Lab 7 – Fundamental Theorem of Calculus
Your explanations are the critical part of this lab – type them in, and make them accurate, clear, and thorough.  Note that some examples are provided in the Maple file lab07_f06.mw.  Print only this document (with your additional work in it) – do not print any Maple file.  Shrink your graphs and edit so as to leave only relevant work.  Due:  before class on Tues., Dec. 5.
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 from 0 to 3;  paste it here.  Use this graph to answer a) - c).
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 from -2 to 2;  paste it here.  Use this graph to answer a) - c).
a)
Is 
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Is 
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c)
At what x-value does h(x) stop increasing and start decreasing?  Why do you think so?
d) Define 
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e) Find the critical number of 
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 that lies between -2 and 2.  (How do you find critical numbers?)  Does your result agree with what you reported c)?  Why/ why not?
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a)
Guess an antiderivative of 
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b) Evaluate 
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 at the limits of integration, i.e. calculate 
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c) Use Maple to evaluate the original integral.
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d) Do your answers to b) and c) agree?  Why should they agree?  
4.
Let 
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a) Show that 
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  is an antiderivative of 
[image: image38.wmf]h

.  (How do you check that a function is an antiderivative?)
b) Evaluate 
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 at the limits of integration:  
c) Use Maple to evaluate the original integral.
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d) Do your answers to b) and c) agree?  Why should they agree?  
5.  (You don't need Maple for this problem.  Review Section 5.2, Properties of the Definite Integral, as necessary.)
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.  Using only this information, determine the following values.  Indicate clearly how you found your values.  (You may write in this part by hand, if you wish.) 
a)
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